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Money Decimals — 2

1. Bob received Rs. 550 from his grandfather, Rs. 650.75 from his grandmother. He bought few toys for
Rs. 265.85. How much money remained with him?

a) Rs. 934.90 b) Rs. 924.09
c) Rs. 834.90 d) Rs 734.90

2. Ram bought a cycle for Rs. 2565.75, a suitcase for Rs. 578.20 and a tea set for Rs. 284.63. He gave two
2000 rupees notes to the shopkeeper. How much balance the shopkeeper returned him?

a) Rs. 751.42 b) Rs. 542.71
c) Rs. 571.42 d) Rs. 425.71

3. State government spent Rs. 75837.63 in the construction of a road and spent Rs. 5765.32 on
plantation. Now the government has Rs. 12026.30 with it. How much money did it have in the
beginning?

a) Rs. 93692.25 b) Rs. 93629.52
c) Rs. 96392.25 d) Rs. 93629.25
4. 10 times of (3.4 + 6.6) is

a) 90 b) 100

c) 660 d) 1000

5. What will be the next three decimal numbers in the below given sequence?

5.7,6.8,7.9, 9.0, ) ,
a) 10.1,11.3,12.4 b) 12.3,11.2, 10.2
<) 10.0,11.2, 12.3 d) 10.1,11.2, 12.3

6. Asha bought 9 pens for Rs. 146.25. Riya wants to buy 20 similar pens. How much she must pay to the
shopkeeper?

a) Rs. 352 b) Rs. 325
c) Rs. 225 d) Rs. 252

7. A business man bought 10 jackets each costing Rs. 264.75. Later he sold each jacket for Rs. 302.48.
How much did he earn?

a) Rs. 737.30 b) Rs. 373.30

c) Rs.377.30 d) Rs. 773.30
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8. Rahul bought 8 cricket bats each costing Rs. 325.56, 5 baseball bats each costing Rs. 236.25. He gave
one 2000 rupees notes and four 500 rupees notes to the shopkeeper. How much money did the
shopkeeper return?

a) Rs. 214.27 b) Rs. 421.72
c) Rs. 214.72 d) Rs. 124.72

9. Prakash had Rs. 750.10 with him. He spent Rs. 534.64 on vegetables and bought 6 buckets with rest of
the money. What was the price of each bucket?

a) Rs. 53.19 b) Rs. 91.35
c) Rs. 35.91 d) Rs. 53.91

10. Ruby had Rs. 250. She wanted to buy notebooks each costing Rs. 12. How many maximum
notebooks she can buy and how much money will remain with her?

a) 20 notebooks & Rs. 20 b) 10 Notebooks & Rs. 20
c) 20 Notebooks & Rs. 10 d) None of these

11. A lady bought 6 jewelry boxes for Rs. 3672.12. She decided to buy 4 more similar boxes. How much
money she must pay more?

a) Rs. 2448.80 b) Rs. 2448.08
<) Rs. 2440.80 d) Rs. 2480.08

12. The cost of 1 kg mango is Rs. 65.75, cost of 1 kg orange is Rs. 82.46 and cost of apple is Rs. 120 per
kg. Calculate the amount of money one must pay to buy 4 kg mangoes, 6 kg oranges and 3 kg apples.

a) Rs. 263.00 b) Rs. 494.64
c) Rs. 1117.67 d) Rs. 1117.76

13. The train fare from Kolkata to Puri is Rs. 362.75. If a group of 6 persons travel together, then how
much they must spend on their journey from Kolkata to Puri and Puri to Kolkata.

a) Rs. 4343.00 b) Rs. 4353.00
c) Rs. 5343.00 d) None of these

14. Total cost of a book and a pen is Rs. 326. If the book cost is Rs. 235.67, then how much money one
must pay to buy 5 books and 10 pens?

a) Rs. 2018.65 b) Rs. 2018.56

c) Rs. 2081.65 d) Rs. 2801.65

15. One person spends Rs. 6072 on his food every month. How much he spends per day on his food?
a) Rs. 202.04 b) Rs. 202.40

c) Rs. 212.40 d) None of these
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